Physics
Adding Displacement Vectors – Word Problems (2)
1.
A party of hikers walks 6.00 km from camp on a bearing 20.0° east of south, then turns and walks 8.00 km on a bearing of 30.0° east of north.   Determine the distance and bearing back to camp.

2.
A farmer plows 150.0 m on a bearing 45.0° west of north, and then turns and plows 50.0 m on a bearing 20.0° west of south.  Determine the distance and bearing of the farmer’s present position form his starting point.

3.
A helicopter takes off on a straight path which makes an angle of 65.0O with the horizontal, and reaches an altitude of 350. meters above the airport.  Determine his horizontal distance from the take-off point and the distance actually traveled by the helicopter.

4.
A ship leaving its port sails due north for 30. miles and then 50. miles in a direction 60.0O east of north.  At the end of this displacement, where is the ship relative to its port?

5.
If a person walks 1.0 km north, 5.0 km west, 3.0 km south, and 7.0 km east, find the resultant displacement vector.

6.
An army recruit on a training exercise is instructed to walk on a bearing of 6.3° north of west for 5.00 miles, then on a bearing of 41.0° north of east for 4.00 miles, and finally on a bearing of 15.0° west of north for a distance of 3.00 miles.  Determine the distance and direction that the recruit must walk to return to his starting position.

7.
One of the holes on a golf course runs due west.  When playing on it recently, a golfer sliced his tee shot and landed in thick rough 120 meters on a bearing of 40.0° west of north.  The ball was in such a bad lie that he was force to blast it on a bearing of 19.0° west of south onto the fairway, where it came to rest 75.0 meters from him.  A chip shot onto the green, which carried 64.0 meters took the ball to a point 2.0 meters past the hole on a direct line from hole to tee.  He sank the putt.  What is the length of this hole?  (Assume the golf course to be flat)
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